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(%) At National Museum, Chatini

(Z) At Brikuti Mandapa, on the eve of king Birendra's Coronation
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National Museum of Nepal was originally founded as ... ... in 1928.

(%) The Arsenal Museum (@) The resort of Commandar in Chief

() Private apartment s (¥) A residence of official
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Hair and fur are subject to attack by ... ... particularly with if any trace of ... ...

(%) Animal — waste of pests

(@) Insects, animal greaSe or other organic waste
(3 Padded forms - moths and tissue

() Animal waste grease and tissue
The storage of gold objects are usually a questjon of ... ..rather than preservation.

(%) Security @) Humidity - (@) Corrosion (¥) Rusting
Para dichlorobenzene crystals are usually placed in the ... ... with the materials.
(%) Mould growth . (@) Containers Q) ObJects () Curatorial office

Textiles exhibited or stored ensuing tearing or breakage can be prevented by .

(%) Hanging on padded form on plastic bags (&) Use of a silica gel

() Sliding with Screened hangers () 'Hanging on fibred bord

Chemicals like chlorodene, pyrethurum and sodmm fluride are used for preventmg ......
(%) Wheathering climate onartifacts ;
(@) Books and paintings

() Woods and furniture

(%) From bugs. silverfish, Cokkroach and termited.

Semi tanned leatier is produced by ... ....

(%) Use of pouches

(@) Stretching s‘kin form which flesh is removed

(1) By flexible applxcanon of vegetable .

(&) Chemical : _

Condition of climate in museum must be focused on ... ....

(%) Porticoes : - (@) Galleries

(M) Galleries and storeages " (%) At the curator's office
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(%) Human artifacts and cultural remaining (@) Historical monuments
() Symbols of religion ' ~ (®&)  Cultural remaining with inscriptions
~ Aurignacian culture of prehistoric France have yielded with ... .... artifacts.

(%) Most aesthetically be_:autiﬁed stone hand axes
(@) Scrappers of rough edged

() Core stone culture

(%) Bulky hand axs
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Sample Questions: Paper | (Part A - General Awareness)

Level I questions

9

s wed =Rt 51y (Trade winds) %8l UGS ?

(@) Fuwfy (b) Y AF TS AT

(c) 3TTAf~ash AR (Atlantlc ocean) {l (d) 3HITHUSA (Tropics) =T He keci] (Equator) |l
TEIHTH] T BBHT é&qﬁaa ........ | FHISHA TSI feTa o 2

(A) URH (Patan) (B) wBHTEl (Kathmandu)
(C) ¥ (Bhaktapur) (D) =®Idg (Ekirtipur)
H STaETaS TavrH ~gead arg e 9fes 2
(A) ‘EW'H%’QT(EqUator Zone) (B) WW(Monsoon Zone)
(C) 3™ Y&¥ (Tropical Zone) (D) =3 §FRIF (Equator Ocean)
mmmmmw W < e s ‘cﬁﬂﬂiiﬁmﬂﬂ‘l ?
(A) T==Ed (B) IO HIA
- (C) o=zt 1@ (D) oS
H FTAHA TH WwA TR B WD ? :
(A) Rfer@mmesr (Heliography) - (B) AfTEHI9 (Telescope)
©) %ﬁﬂzﬁ‘? (Helescope) D) W(Telegraphy '

Level II questions

.g.

TP FIEE I, T & §1 SASTer |
() e i i TR wmire e TRt FEE o T EeR T Es
(2) THTel FESTHI WA fehy e TS T AT TR R 2

(A) 112333 (B) 13233 o
(©) 13 W2 T A (D) 1 7e|@ W2 IS
TEEI T 1 Sl Fesge Y $ieaR & SR oFge |
wE I , , T I
(a) Aristotle 1. Theory of surplus value
(b) Socrates "2.- The Politics
(c) Abraham Lincoln - 3. Hemlock.
(d) Karl Max 4. Slavery System
$TE (code)

a b ¢ d
(A) 4 1 2 3
B)3.,4"1 2
© 2 3 4 1
M1 2 3 4

T R ge 9T VIR I RS 8 wieaiens w{ (Assemon)/aﬁﬁalé FWO (Reason)
HRCH! B | Te RRITH Statement IR Tt Fregeant SR i IR g8 | o
WiE (A) - Rigea ST TS O T, SR, YR ST Y @S DNA Finger Printing

e e TR SR e

FRO (R)-ﬁmammﬁ g%,aﬁﬁmﬁmmmﬁDNAAnalysxssmarﬁrm'
e
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(A) WA (A) THRI (R) T4 31 B9 T HRU (R) 9E (A) i 31 =31&A (Explanation) & |
(B) ¥ (A) THRU (R) T 3T B9 T HRUI (R) WG (A) ﬁwwmxplananon)?sm
(C) ¥E (A) 3% BT HRIT (R) T B |

(D) ¥ (A) T B W HR (R) IH B

T Sfeeian Teai-aEH AU 98 IR S|

1. e ATUHR Tl qeriey '

2. Tfzen 9% g7 9 ThReET HSHE SHE Tl Agmf-y

(3. T a1 3 @Wmmmmwmmﬁmw

4. T ARy
mmm#@mmmu@@wwm
A) 4-3-2-1 B) 4-2-3-1

C) 2-3- 41 D) 1-2-3-4

SReTeRT ST GHEE 3ei 1o TSl ShH % Tel J1 2 :
(A) TIfeesd, Y2, AT, SieTeehl, U™, SeTTerayl, TR, YR
(B) ¥, HIfe< ™, e, Sieiesh], TSN, A&, TiHEd, HNd
(C) wfesd, Yo, SiieTeshl, AU, STHMIEIH, TSR, Tehed™, YR
(D) wfegd, Yyem, mmwmmﬁw

.'\'ihglﬁ’laﬁm(Matchmg)m IR SE S ?

wE 1 TR
(a) 3T (Africa) 1.  foe=amh! 7R (Continect of Extremes)
(b) T9 (Europe) 2. 3R 9_RY (Dark Continent)
(c) @Y (Savana) 3. HORH! BFI (Roof of the World)
(d) IR (Pamir) 4. dore! fafear@m (Zoo of the World)
A 5. WEEIYe®<h! Ui WS (Peninsula of Peninsulas)
(A) a-2,b-1,c-3,d-5 (B) a1,b-5,c—4,d-3
© a-2,b-5,c4,d-3 (D) a41,b~5,c—3,d~4
e woree T RER e .
1. g qgaR uivemim g | 2. YA UiveHaR @i g | .
3. S [ GEERT SE TH E 9 1 4. T 9 ol Jemeae ¥ fiie o9 e 19
ity Sfeafaa saeen gAfeF a1 ?
(A) 1 2373FH (B) 29
(©) 2,334 (D) 2339

ﬁwﬁmwmﬁammaﬁ SR |

(A) TR 9 AR fashen! g smes Jfbs 1

(B) 3TN whifraeh! TeaTa saciane Wush! fo |

(C) WFHe! T3 hif-aelrs difgeh shif- af i 1. :

(D) YR Ta-TaT STRIEHHT T 9%9% -9R ¥\ THh! afvres el g1 e fafams |
A AT WH mmwwwmmm |

T T 5

I Agricultural Centre (SAC)

II  Forestry Centre (SFC)

IIT  Energy Centre (SEC)

IV Tuberculosis Centre (STC)
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Codes : :
(A) 1-1I, 2,1V, 3-1, 4-11
B) 41, | 31, 2-111, 1-IV
(©) 3-11, 4, -1V, 2-111
(D) 4-1v, 111, 2-11, 3-1
Part (B)
Sample Questions of Aptitude Test

Verbal Reasoning :

1. Find out the alternative which will replace the questlon mark.
O, T,T,FF,S,S,E,. (7
(A) E (B) N <© o . D) T

2. 'Reading' is related to knowledge in the same way as 'work' is related to:

(A) Money (B) Engagement- (C) Employment (D) Experience .

3. In the following find out alternative whlch will replace the questlon mark.

' Parts: Strap: :Wolf : ?
(A) Fox (B) Animal (C) Flow (D) Wood

4. If TABLET is coded as UACMET in a certain language then how is CAPSULE wrltten in
that code ?
(A) BAORUKE (B) DAQTUME (C) BAQRUKE (D) DAOTUME ;

5. Choose the word which is different from the rest. :
(A) Anger (B) Anxiety (C) Feeling (D) Joy

6. -The house of A and B face each other on a road going north- south A's being on the western
side . A comes out of his house turns left, travels 5 m, turms right, travels 12 m to the front
of D's house. B does exactly the same and reaches the front of C's house. In this context,
which one of the following statements is correct ?
A) Cand D live on the same street. B) C's house faces south.
C) The houses of C and D are less than 30 m apart
D) None of the above.

7. If the Ist & 2", 3™ & 4™ 5™ & 6™ and so on are interchanged in the A to Z alphabetical
series. then what is the fifteenth number ?
A) N ~B) O €) .-P ' D) Q
Direction: In the following two statements numbered I and II are given. There may be cause and
effect relationship between the two statements. These two statements may be the effect of the same
cause or independent causes. These statements may be independent causes without havmo any
relationship. Read both the statement and answer as :
A) - If statements I is the cause and statement II is its effects.
B) If statements II is the cause and statement I is its effects.
C) If both the statements I and II are independent causes.
D) If both the statements I and II are effects of independent causes.

8. Statements:
I There has been a high increase in the incidents of atrocities against women in the cxty

during the past few months.

II The police-authority has been unable to nab the culprits who are committing crime a°a1mt

wonen.
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9.  What is missing letter?

E[c]oO :
B|A|B

[G[B|N

D|B|? : . :

A) H B) T C) K D) E

10. In a class of 45 students a boy is ranked 20", When two boys jomed his rank was dropped by
one when is his new rank from the end?
A) 25" B) 26" G 2 - D) 28"

Non-verbal reasonin
11. - Which figure should replace the question mark?

ggwjaﬂj?:*
EEEEE

A B C D
12. What would replace the question mark (?) in figure 4.
Probem figures Answer figures
Ql?| |8 O @R
T Zhis S oo AL B.. C.. B

13.  What is the total number of triangles in the below grid ?

A 23 B) 25 ey 2F D) 28
14. - Choose the figure which is different from the rest '

AQ|DO[OAO O
caldalgolad

A. B - SRR b

15." Which of the following diagrams indicates the best relatioﬁ between Examination, Questions
and Practice ? -

T oo 5 0D

C - D




16.

17.

18.

19.

20.

D
[
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¥

Choose the correct water image of the given figure (X) from amongst the four alternatives.

x @A) ®  © (D)
Complete the figure matrix.

N|S7F

W

o0
[¢]
4

.\) \

4 NN

X/c A B C 7 DN

Which three pieces below, when fitted together, will form a perfect square ?

CA) WXY By XYZ  ©C WXY D) WXZ

Find out the alternative figure which contains figure (X) as its part.

o ) =

A B C D

Group the given figures into three classes using-each figure only once.

2 Q
N

5 6
N/
ol b "
(A) 1,3,5: C o 2,69; 4.8
. (B) 1,3,5; 2,6,8; 459
©) 234; 5,68; 9.1,7
(D) 3,24; 6,5,8; y 79,1

Quantative aptitude

21.

. What number should come-next'?
8,6,9,23,87, ......
(A) 174 (B) 226 (C) 324 (D) 429
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24.

25.

26.

27.

28.

29.
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What number should replace the question mark?

NG/ NN

779 928 2
21 36 6 24 15 12

(A) 463 (B) 453 (C) 435 (D) 47

A student on her first 4 tests recived an average score of N points. If she exceeds her previous
average score by 20 points on her fifth test, then what is the average score for the first 5
tests?

(A) N+20 “ (B) N+10 (C) N+ (D) N+5
Find out the wrong number in the given sequence of numbers. '
1,2,6,15,31, 56,91 me -

(A) 6 B) 31 (©) 56 D) 91

Baglung is located in Western Nepal and some Baglunge (people of Baglung) can speak
Nepali and some can speak Magar. If 70% of Baglunge speaks Nepali and 60% of Baglunge
speaks Magar, what is the minimum percentage of Magar speaking Baglunge that also speak

Nepali ? ; X

- (A) 10% (B) 15% (C) 20% - (D) 30%

Ten teams are participating in a National football League. If each team plays the other teams
2 times, the total number of games the League will playis ... ‘ '

(A) 45 . B) 55 - (©) 90 (D) 100 .
There are 21 juice bottles out of which 7 bottles are full, 7 half-full and the remaining 7 are
empty to be divided amongst 3 friends equally. You don't have any measuring device. After
dividing them (both bottles and juice) equally how much empty bottles each will get?

A) 0 ®) 2 © 3 (D) 4
Two numbers are in the ratio 5:4 and their difference is 10. What is the larger number?
(A) 30 (B) 40 - © 50 (D) 60

A shopkeeper fills a basket with eggs in a such way that the number of eggs added on each
successive day is the same as the number alredy present in the basket. This way the basket
gets completely filled in 12 days. After how many days the basket was half (1/2) full ?

A) 11 (B) 10 ) ©) 9 - (D) 6

If the seventh day of a month is three days earlier than Friday, what day will it be on the
sixteenth day of the month? ' ;
(A) Sunday (B) Tuesday (C) Thursday (D) Friday

General mental ability, logical reasoning and analvtical ability

31.

K is heavier than N. M weighs less than N. L is heavier than M but lighter than N. Which of
the following statements is NOT true? ‘

(A) K weighs more then M. (B) N weighs less than K.

(C) M weighs more than K. (D) M is the lightest of all.
What is the minimum number of different colours required to paint
the figure given below such that no two adjacent regions have the
same colour?

A) 2 ®3  © 4 D) 6
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There are four houses on one side of a city street. Each house belongs to a different person
“who lives in the house. The owners of the houses are A, B, C, and' D. Each owns one car and
the colours of these cars are white, red, blue and green. Furthermore: :
1. . D owns the white car _
2. B's house is not at either end of the street
3. A owns the second house from the left
4. C owns the blue car
Which people own the red and green cars? v ' :
(A) Band A . (B) CandB (C) Dand A (D) CandD’
A cube has six numbers marked 1, 2, 3, 4, 5, and 6 on its faces. Three views of the cube are
shown below :

1 3 3

6 1 .5

What possible numbers can exist on the two faces marked (A) and (B) respectively on the
cube? ;

®

(A) 2and3 (B) 6and1 (C) 1and4 (D) 3and!l

If D is the brother of B, how B is related to C? To answer this question which of the
statements is/are necessary? :

1. The son of D is the grandson of C.

2. Bisthesister of D ‘ '
(A) only1l (B) Only2 (C) - Either 1or2 (D) 1 and 2 both are required
Consider the following figure: ' )

In the about figure, triangle represents girls, the square represents sports and the circle
represents coaches. Which portion in the figure represents girls, who are sports persons, but
not coaches ? '

A) 4 (B) 2 © 1 - (D) 3

Read the following passage and answer the 3 (three) items that follow :

In a survey regarding a proposed measure to be introduced, 2878 persons took part of which 1652 were
males. 1226 persons voted against the proposal of which 796 were males. 1425 persons voted for the
proposal. 196 females were undecided. '

31.

38.

How many females voted for the proposal? - :
(A) 430 (B) 600 (C) 624 (D) 640
How many males were undecided?

A) 31 (B) 227 (C) 426 (D) 581
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39. How many females were not in favour of the proposal?
(A) 430 (B) 496 (C) 586 (D) 1226
40.  Of the following statements, there are two statements both of which cannot be true but both
can be false. Which are these two statements?
1.  All machines make noise.
2. Some machines are noisy. -
3. No machine makes noise.
4. Some machines are not noisy.
(A) land2 (B) 3and4

Data interpretation

The following line graph gives the ratio of the amounts of imports to the amount of exports of the certain
country for the period from 1995 to 2001.
. Ratio of Value of Imports to Exports Over the Years

(© 1and3 (D) 2and4

1997 1998 1999 2000 2001
Years
Using the above graph and answer the next 4 questions.

41.  The imports were minimum proportionate to the exports of the Country in the year?

1996

1995

(A) 1996 (B) 1997 (C) 2000 (D) 2001
42.  What was the percentage increase in imports form 1997 to 19982
A 72 (B) 56 ©) 28 - (D) Data inadequate

43.  If the imports of the country in 1996 was Rs 272 millin, the exports from the country in 1996
was ?
(A) Rs. 370 million (B) Rs. 320 million(C) Rs.280 million (D) Rs. 275 million

44.  In how many of the given years were the exports more than the imports?

(A) 1year (B) 2 years (C) 3years (D) 4 years
45.  The imports were maximum proportionate to the exports of the country in the year?
(A) 1996 (B) 1997 (C) 2000 (D) 2001

Study the followxng table and answer the questions:
Classification of 100 Students Based on the Marks Obtained by them

In Pa er I and paper Il in an Examination.
Subject Marks out of 50
40 and above | 30 and avove | 20 and above | 10 and above | 0 and
above
Paper 1 9 32 80 92 100
Paper I1 4 21 66 81 100
Average (Aggregate) ~7 27 73 87 100
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46. - What is the different between. the number of students passed with 30 as cut- off marks in

Paper-II and those passed with 30 as cut-off marks in aggregate?
(A) 3 : (B) 4 © 5 ») 6

47.  If at least 60% marks in paper-I are required for pursuing higher studies in science, how '

many srudents will be eligible to pursue higher studies in science?
(A) O B) 9 ) (C) 18 D) 32

48. The percentage of number of students getting at least 60% marks in Paper-1I over

getting at least 40 % marks in aggregate, is approximately?

(A) 20% B) 27% ©) 29% (D) 30%
49.  The number of students scoring less than 40 % marks in aggregate is ?
(A) 7 B) 13 . . <€) 14 D) 27

, those

50. If it is known that ‘at least 23 students were eligible for a symposium on Paper-II, then the
minimum qualifying marks in Paper-II for eligibiliaty to symposium would lie in the range?

(A) Below 20 (B) 20-30 (C) 3040 (D) 40-45
Directions for following 5 (five) items:
Study the two figures given below and answer the five items that follow:

_ Flgure 1 : Number of professors in selected
Disciplines in a Unversity by sex

28

24

20-

16

°e
°e °e
ee ° of—
() °0
e @ ° 0

Physics Mathematics Chemistry Botany  Psychology Economics

. "Male Eﬂ Female

Figure 2: Age of Physics Professors

L 60-65

45-59

51. How many Physics Professors belong to the age group 35 —44?
(A) 18 . (B) 16 (C) 14 D) 12
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53.

58.
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Which one of the following disciplines has the highest ratio of males to females?

(A) Physics (B) Mathematies (C) Chemistry (D) Economics
‘What percentage of all Psychology Professors are females?
(A) 40% B) 50% ~ (C) . 60% D) 70%

If the number of female Physice professors in the age group 25 — 34 equals 25% of all the -
Physics professors in that age group, then what is the number of male Physics professors in
the age group 25-34? , . ) .
(A) 2 (B) 3 ©) 6 D) 9

If the Psychology professors in the University constitute 2% of all the professors in the
University, then what is the number of professors in the university?

(A) 400 (B) 500 (C) 600 (D) 700

Directions for the following 5 (five) items:

Study the table given below and answer the five items that follow:

Four students W, X, Y, Z, appeared in four papers. I, IL, III and IV in a test.
Their scores out of 100 are given below :

Students Papers
1 ‘ I HI IV
W - 60 81 ' o D 55
X 59 : 43 51 ' A
Y 74 . A . 71 = ] 65 °
PZ 72 76 ; -A 68

Where 'A' stands for absent

56. Which candidate has secured between 60- 65% marks in aggregate?
(A W - B) X oY D) Z

57. Who has obtained the lowest average in aggregate?

(A) W (B) X R (C Y e D) Z
58.  Who has obtained the highest average in aggregate?

(A) W B) X <) Y D) Z
59. In which paper the lowest marks were obtained by the candidates?

(A) I - B) I (©) 11 (D) 1Iv
60. Which candidate has secured the highest percentage in the papers appeared?

(A) W . B) X (©) Y D) Z
1. (b) |One, Two, Three, ..........:...
2. (d) | Experience
3.. |(c) |Parts: Strap :: Wolf : Flow
4. |(d) |Constant and Vowel are randomly N
5: (c)
6. |(c) 2 D

=5
13
i
13
R s
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h=+p” +b’=~/5"+ 122 =25 + 144 =~[169 = 13

7. 1© BADCFEHGJILKNM[PJORQTSVUXWYZ
8. |(b)
9. (a) Cl X Cg = C3
10. |(¢) [T=L+R-1=45+2=20+1+R=1..R=47-20=27
11. |(c) '
12. |(a) |Four line four parts, five line equal five parts.
2 \ 2

13. {(a) _5’@-1)8(2n-1)=(5 -1)(§x5-1)=248><9=27;4=23
14. |(d) |Series of the triangle, square, pentagon, hexagon.
15. {(a) : ;
16. {(c)
17. [(b)
18. {(d)
19. |(c)
20. '|(b) |135,268,4,5,9
21. 1(d) |8X1-2=6,6x2-3=99x3-4=2323x4-5= 87,85x5-6=429
22. |(b) |7x2=14, 9><2—18 4x2=8

71%3=21,2%3=6,5%x3=15

9%x4=36,6x4=243x4=12
23. |(c) 4n(r;1+20)"4n+n+20_5n+20__5(n+4)

57+ Tr =S A R

=(n+4)
24. -1(d) :
25. {(d) |30% 100=70-x + x + 60 —x

_lor,x=130-1w= .. x=30%
26. ((c) n(r12-.1)x2___10(1051)x2=102x9><2 -90
-127. Hc) )

28. |(c) |Differencein 5:4 =1

1 means 10 & 5 means 50
29 |(a)
30. |@©) [7" day is 3 days earlier than Fuday means 7" day is Tuesday so 16" day Thursday
31. |(c) |K>N>L >Mso ciscorrect answer
32. |(b) '

' | - required colour is 3

33. [(a) |D owns white car C owns blue car so obv:ously B and A owns red and green car.
34. |(a) |1=3,2,6,4 :

1 =5, I"cannot appear when 5 appears so (a)
35. |(d) |B is daughter of C
36. [(b) |For 37, 38, 39,40
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37. | (0| 0878 - :
38. |(a) ' v '
39. ((a) | M ) : F
40. {(c) 1652 1226
B ' »
For Against Undecided
1425 f?i§ 227
v v
v vV v + + v
M F M F
825 600 796 430 31 196
. 35
4>1 ®) The import of 1997 is Em s0 it were minimum propertonate.
142. |(d) |Importin 1997 =35
" |Import in 1998 = 125
. 90 _ 1800 _ 1
% increase = 35 X!OO == 2577%
43. |(b) |In 1996 imports was 85 means 272 million
Xports 788
72
100 means 285 x 110 =320
44. |(d). |In 1995, 1996, 1997, 2000. Exports were more than 1mports
45. |(d)«|In 2001 the imports were maximum proportionate.
46. {(d) |In Paper II student who passed 30 as cut/off marks is 27
" " Aggregate" " "is21
. 27-21=6
47. |{(d) In Paper I student who score at least 60% marks are 32.
48: |(c) |In paper II number students getting at least 60% marks = 21
In aggregate number of students getting at least 40% marks = 73
221 2100
73 x100 = 73 = 29%
49, |(d) {The number of students scoring less than 40% marks in aggregate = (IOO -73) =27
50. |(b) |If it is know that at least 23 students were eligible for a symposisum from paper II the
‘ - | minimum qualifying marks in paper II for eligiblity in symposisum would lie in 21 student
from 30 over but 2 student from (20-30) range.
51| .40
. : 400f40%—40x100-16
52. 32
52 @ Physics “8‘- 4:1 highest
53. 6,
(‘?) (%) females professor in psycholooy 10 —%100 = 60%
54.
@ 40 of 30% =40 x -1'0—6 12 of 25% female
25
IZX‘IBb‘—3 (12 -3) =9 males
55." |(b) |Total professor=x

s x0f2% =10
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XX 700 = 10 - 500
56. |(a) |Aggregate of
60 +81'+45 +55 24]
W= e E 6025
59+43+51+A 153
= 4 = 4 = 3825
T4+A+714+65 21
, 4 4
72+76 +A+68 216 -
= 4 = 4 =54
From the above aggregate "'W' has secured between (60-65)% marks in aggreagte.
57. |(b) |'X'obtained the lowest .
158. [(a) |'W'obtained the highest.
59. |(c) |Inthe paper III (45 + 51 + 71 + A) -167 which is lowest.
60. |(d 241
@ Here, W =—— 2 =60.25
153,
X= 3 = 51
210
X= g =10 |
..2_& : . 3 g
Z= 3 = 72 .. Z has secured the highest % in paper appered.

et 1

Read the passage below and answer the questlons that follow
Passage 1
Oak and Company
’ Rlchard Mabey
If tree families had family trees the oak would have one of the oldest and grandest of all. There are

more than 500 different species, and over the last million years they have apread, in various shapes
and forms, over most of the northern half of the earth. There are mountain oaks, swamp oaks,
evergreen oaks, weeping oaks, and oaks on windswept cliffs that never reach more then two or
three feet in height. One kind in Spain has such a spongy bark that it is used to make cork, so there
are soft oaks, too. But for most of us oak means just one kind of tree: the tough rugged giant that
has played such a part in history and legend and been so important in the woodlands of Europe and
North America. :

Perhaps we have been unfalr to other trees, but the forest oaks deserve their fame. They are hardy,
easy-going, and not all fussy about whether they grow. They can reach a great age-even a

~thousand of years, though most are cut down long before this. Their squat trunks and twisted

branches, looking like clenched wooden muscles, can stand up to the worst kind of weather.
On top of all this, timber cut from oaks is as strong and remarkable as the trees themselves. It is

" solid and hard- wearing a$ good for furniture as it for firewood. Before the days of steel and
. concrete it made the frames of houses and ships. If we had to invent a new kind of timber it would

be hard to think up anything better.
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Yet it isn't just humans who find oaks the most useful of trees. Over the ages a hunge number of
animals and plants have learned to live off — and in — oaks. It is tempting to say that a full- grown
oak is like a house but it is really more like a city- a whole community of creatures travelling,
working, eating, sleeping, singing, and bringing up young, on every part from the topmost spring
buds to the dead gash blasted out by a lightening flash.

Comprehension Questions: ’ (5x1=15)
Choose the correct alternative. '

b 1S Which statement is closest to the main idea expressed in the first paragraph? .
A. That there are varienties of oaks ;
B. That trees like oaks are family trees
C. Most people think that there is only one type of oak
D. The best kind oak is found in Spain
2, By giving example of a kind of oak found in Spain, the writer proves-
A. there are soft oaks B. oaks can be useful )
C.  cork manufacturing mdustry depends on oaksD. our thinking of oak as a hard wood is wrong
3. .  All the statements below are true, except
A. there are varieties of oaks
B. oaks primarily grow in Northern part of the earth
C. oaks have muscles like human beings
D. steel is used nowadays as building material for which oaks were used in the past
4. The sentence "If we had to invent a new kind of timber it would be hard to think up
anything better'' means-
A. We cannot invent a new kind of timber
B. Itis hard to think about a new timber
C Itis hard to find a better timber than oak
D. It's time that we better think of a new timber than oak
5. Which statement best expresses the idea expressed in pararraph 4?
A. animals and birds make homes in oaks
B. Sometimes lightening strikes oaks
C. Plants also depend on oaks’
D. Not only human but also animals and plants find oaks useful
Vocabulary Question: (7x1=7)
6. The closest meaning of the word "giant'' in paragraoh Iis ---
A. Legendary hung humanlike beings B. a powerful living being
C. abeing who has history and legend D. strong and having a great size
1. The phrase "stand up to" in paragraph 2 means- :
’ A. Standing erect B. Rise to a crect position
C. Support one-self D. Be equally capable in strength and power
8. "Bring up" in pargarph 4 means- ;
A. Raise children or babies B..  Bring something from another place
C. Come closer to an object D. Push something to a higher plane
9. The closet opposite meaning of the word "fussy'' in paragraph 2 is -
A. Selective  "B. Choosy . C. Hardtoplease - D. Easy- going
10.  Which grammar class (parts of speech) the "windswept' in pargarph 1 belongs to?

A.  Noun B. Verb C. Adjective . D. Compound word
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Syntactic Ability Question (8x1=8)
Choose the correct alternative. g
11.  Which sentence indicates that john eamed some money ?
A.  John nearly earned $ 100. “vB.  John earned nearly $ 100.
_ C. BothAandB - D.  None of the above
12.  Which sentence is best active version of the sentence "The computer disk was damaged by
electric shock" ?
A. Someone damaged the computer disk:
B. . The computer disk has’been damages by the electrlc shock.
- C. The electric shock damaged the computer disk.
D. Due to electric shock, the computer disk was damaged.
13.  Which one is the correct English expression ? A
A. John has been collecting stamps since 1996.B.  John collected stamps since 1996

- C. John had collected stamps since 1996.  D. Since 1996, John was collecting stamps
14. Which preposition completes the sentence al | expect alot of guest ___ Christmas.
A. - in B. at C. on D. for : :
15.  Which alternative completes the sentence "Last year, we visited ____ St. Paul Cathedral in
Vienna? .
A. that B. the C. a D.  none
Set 2 Sample Questions
Read the passage below and answer the question that follow.
Passage 1
Hibernation

Hibernation is one the main adaptatxons that allow certain northern animals to survive long, cold winters.
Hibernation is like a very deep sleep that allows animals to save their energy when there is little or no
food available. The body functions of 'true hibernators' go through several changes while they are
hibernating. Body temperature drops, and heart rate:slows. For example, a hibernating woodchuck's body
temperature drops by more than 30 degrees Celsius and its heart rate slows from 80 to 4 beats per minute!
Other true hibernators include the jumping mouse, little brown bat, eastern chipmunk and several ground
squxrrels Other animals, such as the skunk and raccoon, are not considered true hibernators; as they wake
up in the winter to feed, and ‘their body function do not change as much. Since they only sleep for a little
bit at a time, the term dormancy or 'light sleeping' is used to describe their behavior. The largest animals
to hibernate are bears. Their heart rate may slow down from a usual-40-50 beats per minute to 8-12 beats
per minute, but their body temperature changes very little, so they are able to wake up quickly.
Hibernating animals have a special substance in the blood called hibernation inducement trigger, or HIT.
This substance becomes active in the fall, when the days become cooler and shorter. When HIT becomes
active, the animals start preparing for winter. Some animals store food so that they can eat when they
wake up, and some animals eat a lot in late summer and fall to add excess fat to their bodies. This fat
keeps.them warmer and acts as a sourch of energy while they are sleepmo Some animals also make
changes to the place where they will sleep (dens). They add leaves and orasses to keep them warm.
Question: : 0 P (5x1—5)

Choose the correct alternative. o E

1. Why do animals hibernate? : L e
A. Animals hiberhate to survive lono P v RS
B. Animals hibernate to adapt to the temperature
C. Animals hibernate to save enetgy during the: \flmter when the?é is llttle food for them to eat.
D. Animals hibernate to take a deep unmterrupteé sleep. 2Ly e

2. What changes occur in the functions of an animal's body when it hlbernaztes‘7

A. An animal's body temperature and its heart beat rise when it is hibernating.
B. An animal's body temperature drops and its heart beat quickens when it is hibernating

kooy ol B
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C. An animal's body temperature drops and its heart beat slows when it is hibernating.
D. Ananimal's body temperature drops and its heart beat remain constant when it is hibernating.
3: Why are raccoons and skunks not "true hibernators"? :
A. Because they wake up in the winter to eat. Additionally, the changes in the functions of their
bodies aren't as great. : : '
B. Because they sleep for a little bit of time only.
- C. Because they do not wake up in winter to feed.
:D. Because they feel hungry and get only light sleep. -
4.  When does HIT become active? :
A. HIT becomes active whenever the days become cooler and shorter. .
B. HIT becomes active when the hibernating animals feel cold and are short of food.
C. HIT becomes active when winter is in the full swing
D. HIT becomes active in the fall, when the days are shorter and the temperature cooler.
5; How do animals prepare for hibernation? : _
A. . To prepare for hibernation, animals store food, eat a lot to add excess fat to their bodies and
add leaves and grasses to their dens to keep them warm while they sleep. :
B. To prepare for hibernation, animals store food and gather leaves and grasses to their dens to
keep then warm they sleep. . ‘
_ C. To prepare for hibernation, animals store food and eat a lot to add excess fat to their bodies.
D. To prepare for hibernation, animals eat a lot to add excess fat to their bodies and add leaves
and grasses to their dens to keep them warm while they sleep.

Vocabulary Question : : (7x1=T7)
6.  One who owns, enjoys and controls anything as propertyisa -
A. Lyric : B. Ruler C. Possessor D. Politician
7. "Discolor" literally means ‘
A. To give a wrong impression B. To stain
: C. To mix many colors D. To displace
8. What is it to give a formal public speech? 3
A. Toguzzle B. Toorate C. To proceed D. To mumble
9. ' If something is not working normally, it is called
A Unfunctional - B. Functional C. Dysfunctional D. Malfunctional
10. "Darkness' does not go together with o
A. Dimness B. Brightness C. - Drabness ~D.  Murkiness
Svntactic Ability Question: ; . (8x1=8)
Choose .the correct alternative (the right word. phrase or clause) to complete the -following
. conversation. ) : :
11.  Ihave trouble...........
A. toremember my password ' B. toremembering my password
C. remembering my password D. remember my password

- 12.°  The board meeting was held .....

A. atTuesday  B. onTuesday C. from Tuesday D.  in Tuesday
~ 13..  They will lose their reputation, ... o : _
A.  ifthey do not replace the damaged product. B.  if they did not replace the damaged product.
C. if they have replaced the damaged product. D. if they are replacing the damaged product.
14.  Neither the manager nor the assistants ...
- . A. knows how the office building caught fire.
B. know how the office building caught fire.
C. have known how the office building caught fire."
D. were knowing how the office building caught fire. :
15.  They had better ........... They are becoming weaker and weaker day by day.
A. - Stop smoking ’ B. Stopped smoking :
C. Stopping to smoke D. to stop smoking
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If IQS is coded as LNV, then what would be.the code for JRM ?
A) LOP - B) MOP C) LIP D) MOW
Find out the alternative that will replace the question mark(") ) :
HS  JQ LO NM ?
Ay 1 . B) OP C) KP D) PK

In the following find out the alterantive which will replace the question mark. (2;

A) Ring - . B) Sphere , C) Circle D) Ball

In a queue, Mr. X is twentieth position form the front and Mr. Y is twenty-one position from
the end, while Mr. Z is exactly in between Mr. X and Mr. Y. If Mr. X is ahead of Mr. Y and
there are 50 persons in the queue, how many person are there between Mr. X and Mr. Z 7

A) 8 B) 5 j C 4 D) 3

Direction: In the following, two statements I & II a:= gi+on. There may be cause and effect
relatwnshlp between these. Read both statements and 7 s s as: =

Statements: ?

I Ahuge truck overturned on the middle of the road last night.’

II. - The police had cordoned. of the entire area in the locality this morning for half of the day.
A) If statement I is the cause and statement II is its effect.

B) " If statement II is cause and statement I is its effect.

C) If both the statements I and II are independent causes.

D) If both the statements I and II are effects of independent causes. '

Select the figure which satisfies the same conditions of placement of the dots as in figure — X.

B v &

&
A B e D

AN
x\\;>

Choose the correct water image of the given figure (X) from the amongst the four

5@ 5 | @D &

NG

/\@
2| KB
&

(A) (B) © {D)-
Which figure should replace the question mark? '

K2
=

@A) (B) © D \ " a

2

AT
<>

<>',<>

<><>




10.

11.

12.

-13.

14.

15.
16.

17.
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Choose the figure which is different from the rest.

A B C D

What is the maximum number of triangles in the given figure?

A) 18 : B) 20 C 24 . D) 27

A shopkeeper fills a basket with eggs in a way that the number of eggs added on each
successive day is the same as the number already present in the basket. This way the basket
gets completely filled in 24 days. After how many days the basket was one-eight (1/8) full? .

Ay 25 .. B) 12 C)- -6 D) 4 =

The total of the ages, of Akbar, Amar, Amir and ArJun is 80 years. What was the total of
their ages three years ago?

A) 66 years B) 68 years C) 71 years ° D) 77 years

What number should replace the question mark? ,

A) 11 B) 12 HE).._ 22 : D) 33

On taking delivery of a conmgnment of eggs the market stall owner was furious to find that
several were cracked. In fact, on counting them up in order to assess the damage he found
that 72 were cracked, which was 12 percent of the total consignment. How many eggs in total

were in the consignment?
A). 550 - B) 575 C) 600 D). 625

* What number should replace the question mark"

17, 4,29,13, 41,22, 53,31, 7

A) 62 B) 60 | C) 65 5Dy 10
The sum of first five prime number is: = S
S 11 B) 18 -0 26 D) 28

. How many steps to the top of the Dharara? asked the tourist. '196 plus half the number of

steps; replied the guide. How many steps are there to the top of the Daharara?

’_A) 392 steps - B) 294 steps _ C) 49%steps D) 398 steps



18.

20.
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‘What is missing number?- .

/3N

A 6 . B) 8 - S o © D)9

Circle indicates 'strong', square indicates 'tall” and tnangle 'football players'. The strong
football players who are not tall are shown.

@

2

A 4 B) 3 C). 5. D) 6

Of three part-tlme employees, Manoj works longer hours than Fanindra, and Bishal works
longer hours than Manoj. In this context which one of the followmg is correct?

A) Manjo works the longest of all.

B) Fanindra works the longest of all.

C) Bishal works the lonvest of all.

D) Both Fanindra and Manoj work longer than Bxshal

Direction for the following 5(five) items: Study the table given below and answer the' five items that

21.
22.

23.

-

Jollows: Fours students W, X, Y, Z appeared in four papers; I, I, Il and IV in a test. Their
score out of 50 are given below in the table. Where 'A’ stands for absent. -

Student Papers
I I I v

W 30 23 26 .

X 31 42 22 28

Y 36 P tgg e A Rt

% 34 A 35. 0
Whnch candldate has secured between 60-65% marks in aggregate" ;
A) W , © B) X O D) Z
Who has obtained the lowest average in aggregate?
A) W B) X & e D). Z
Who has obtained the highest average in aggregate? - ;
A) W B) X Oy N 50 Dy Z .
In which paper the lowest marks were obtain by the candidates?
A) I By AT C) 1 D) 1V

Which candidate has secured the hlghest percentage in the papers appeared? .
A) W B)=% C) . By -7



) 472

B Answer with Explanation ' :

1. (b) IQS JRM
+3-3+3 “4+3-343
LNV ___MOP

2. @ jHs 1 Q Lo NM [PK

8\19 1017 1215 1413 1611

3z (c)
4. (©) X 4 Z 4 Y
: =t I =
20 : 21
50 - . :
. 4 person are there between Mr. X and Mr. Z .
5. (a) Statement I is the causes and statement 11 is its effect.
6. (a)  1Onthe figure X one dot is situated at the common region of triangle & circle and another
' is on the common region of triangle and square :
7. (d) Up\down reflection.
8. (b) The dot which is on the inner side of the both figure is moved by clockwxse and another is
moved by anticlockwise.
9. (c) All the figure can be rotated into each other except option (c). .
10. (c) .
=8 N2x6=12
; o 12+8=20+4=24
11... . Ha) :

.| [24 days it full, 23 days half full, 22 days % full, 21 days ‘% full.

12. (b) Amar, Acabar, Amir and Arjun ages =80
- |3years Ago their age = 80-12=68.

13. (c) 198 x 3 .= 594 as same way 22 x 3 = 66

4. () |x0f12%=72 ]

12
) xxm:'ﬁ s X =600
15. © 17 4 29,413 1" .22 31
+12 - +12 +12 +12

| 16. (d) 2+5+3+11=28

17. (a) . |Total steps = x.

X ¥
or‘x:l()6+§ i or, x—::l%
H & .
5 =196 : So%=392
18. (c) Floure madc by as many as line the number on the fvure IS same.

19. (a) Football.player who are not tall (A) shown by 4.
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20. |(¢) |B>M>F .
| Bishal work the longest of all.

21, b 79 ; 123

®) W:—4‘: 19.75=39.5 X:T:3O.75=61.5

10 : 1
Y= 8—27 54 _Z:lg =25.25:=50.5

22. |@. |(W) ' :
23. (b) X)
24. (c) In Paper III the lowest marks were obtained by the candidates.
25; 108

®) g =36=T72%

Read the following péssage and choose the corrgct answer of the questions given below:

Three-fourths of the surface of our planet is covered by the sea, which both separates and unites the
various races of mankind. The sea is the great highway along which man may journey at his will, the
great road that has no walls or hedges hemming it in, and that nobody has to keep it in good repair with
-the aid of pickaxes and barrels of tar and steamrollers. The sea appeals to man's love of the perilous and
~ the unknown to his love of conquest, his love of knowledge, and his love.of gold. Its green, and grey, and
blue and purple waters call to him and bid him fare forth In quest of fresh fields. Beyond their horizon he

has found danger and death glory and gain.

In some great continents such as America and Australia there are towns and v1llages many thousands of
miles from the coast; whose children have never seen or hears-or felt-the waves of the sea. But in the
British Isles it is nowhere much more than a hundred miles from the most inland spot. The love of the sea

" is in the very blood of the British people.
Compg:ehension questions: (5 x 2 = 10)
How much of cur planet is not covered by the sea?

1.

(A) three-fourths of the planet * (B) half of the planet
(C) " one-fourth of the planet

(D) more than one can measure

The sea helps a man .
(A) inraising walls on the coast o :

(B) in building great roads

(C) in making journey at his will and around the world e

(D) in clearmo hedges in hemming the sea water

~ In what way does the sea appeal to man?

(A) Itinvites man to amass gold hidden under the sea-water

(B) -It helps man take lessons from the perilous waves and stay at home
(C) It bids man to venture out in quest of new places.

(D) - It makes man wax eloquent,about the tunhty of adventures aeeds

" The children have not responded to the call of the sea

(A) Inremoter town and villages of America (B) In Great Britain
(C) In Nepal ) : (D) InIndia

R Y -



5. . The sea has been compared to .

(A) a steamroller
(C) aspacecraft in motion -
Vocabulary questions (5 x 2 = 10)

Choose from the following list of words, a word that i is most nearly opposxte n meaning to the word
in capital letter.

(B)  The great highway
(D) hedges hemming it

474

6. CONSOLIDATION
(A) Restriction (B) Opposition (C) Fragmentation (D) Provocation
7. SECURE ' :
(A) Infest (B) Decent (C) Implant (D) Unfasten
8. VALOR : '
(A) Admonition (B) injustice (C) Cowardice (D) generosity
9.  LAVISH _ -
(A) Hostile (B) unwashed (C) timely (D) frugal
10. - UNEARTH e iy
(A) Conceal (B) gnaw (C) clean (D) react
Syntactic ability questions (5 x 2 = 10) &f
11.  Choose the right verb to show Antecedents and other Agreement: '
Two ladies had hand bags stolen at the seminar i
. (A) its (B) his (C) they (D) their
12.  Choose the right alternative for the underlined )
Prices are going up by leaps and bounds.
(A) Irregularly (B) rapidly (C). gradually (D) systematically
13.  Which of the following sentence is grammatically right?- :
(A) Tam unable to return I don't complete my mission.
(B) Iam unable to return unless I complete my mission.
. (C) Iam able to return unless I complete my mission.
(D) Iam able to return, I complete my mission.
14. Which of the following is a noun? ‘ ;
(A) Heighten (B) perceptua] (C) abbreviate (D) ignorance
15.  Choose the correct alternative of the given sentence for indirect speech
He said, "I clean my teeth twice a day."
(A) He said that he cleaned his teeth twice a day.
(B)  He said that he cleans his teeth twice a day.
(C) He said that used to clean his teeth twice a day.
(D) He said that he used to cleaning his teeth twice a day.
Answer Keyl| : ' : _
1.(C) 2.(B) 3L(C) 4. (A) 5.(B) 6. (C) 7.(A) 8. (O 9.(D) 10. (A)
11.(D) [12.(B) |[13.(B) |14.(D) - |15.(B) :
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The average of three consecutive number is N. If the next two numbers are also included,
how shall the average vary?

(A) It shall remain the same : ~ (B) Itshall i byl
(C) It shall increase by 1.5 D) It shall increase by 2

‘What number should replace the quwtmn mark?

(P @)

A 2 (B) 4 (C)- 6 _ D) 8
Which number should replace the question mark? ey e S
1,50,6, 45, 11, 40, 16, 35, 21, 30.? ) :

(a) 30 (B) 24 (C) 26 edai | . (D) 285

In a game of eight players lasting for 70 minutes, six substitutes alternate with each player.
This means that all players, including the substxtutes, are on the field for the same length of
time. For how long? :

(A) 12 (B) 21 ©) 40 D) 14

If all letters in the word MERCIFUL are rearranged in alphabetical order and substituted
by the alphabet preceding them in the Engllsh alphabet what will be the new arrangement of
letters?

(A) BDHEKLQT (B) BDEHKLQT - .(C) BDEHLKQT '(D) BDEJMLQT
Which letter.goes on empty segment? ' ; :

®® ® - | i
A) s By B - i © Q - OM v
Four people witnessed a mugging. Each gave a different description of the mugger. Which

_description is probably right?

He was average height, thin and middle— aged

He was tall, thin, and middle- aged

He was tall, thin, and young.

He was tall, of average weight, and middle— aged.



479

Directions nfor the following 5 (five)' items: Study the table given below, and answer the five items that

10.

1.

12.

13
'14.

15.

16.

Sfollow: Four students W,X,Y,Z appeared in four papers; I, II, III, and IV in a test. Their scores out
of 100 are given below in the table. Where 'A' STAND FOR ABSENT.
Students Paper

I n m 1Iv
59 43 51 A

60 81 45 55
72 76 A 68
747 AT 6S

N <X

Which, candidate has secured between 60 — 65% marks in aggregate?

A W , ®B) X © Y - D) z

Who has obtained the lowest average in aggregate?

A) W B) X O Y D) z

Who has obtained the highest average in aggregate?

A) W : B) X ©C) Y D) Z

In which paper the lowest marks obtained by the candidates? :

(A) I ®B) I ©) 1m ' D) 1Iv

Which candidate has secured the highest percentage in the papers appeared?

Ay W B) X ©) Y D) Z

What would replace the question marks (?) in the given series?

B,E,D,F,2,H,J,2,L ' :

(A) LM (B) M, I (©) LN - (D) IM
Find out the alternative which replace the question mark? South: North— West :: West: (?)
(A) North (B) South-West (C) North-East (D) East

Direction: In the following, a statement is given which is following by three courses of action

numbered I, II, IIl. You have to assume everything in the statement to be true, and then decide

which of the three suggested courses of action logically followings for pursing.

Statement: Every year thousands of eligible students do not get admission in colleges both in

urban and rural areas after passing their school leaving certificate examination.

Courses of Action: :

I. © More colleges should be set up in both urban and rural areas.

II. The number of schools in both urban and rural areas should be reduced. .

III. More schools should offer vocational courses to equip student for taking up their vocation
after completing their school education.

(A) Only I follow (B) Only II and III follow

(C) Only I and III follow (D) OnlyIandII

What is the maximum number of square in the following grid?

—

—
| -

A) 10 B)11 (C) 12 : D) 13
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17. Which of the following diagrams indicates the best relation between reward, pumshment and
reinforcement?

® Q 0o

B
18. Whlch three of the pieces below can be fitted together to form a rectangle?

o
(A) ABC B) ACD ; (©) BAD (D) CBD

19. Choose the box that is similar to the box formed from the given sheet of paper (X).

@ B) @ »
(A) 1and2only = (B) 1,2,and4 only (C) 1and4 only (D) 1,2 and 3 only :

20.  Which figure will continue the same series as established in the first series?
O 0 C (@ VAN Y L€ & = C (1S C|cC | cC «
A X ‘ = T * .2 Elis =] ‘ 5
¢ dAa olc ¢ * xlc ¢ o- =T = T =T =

‘m_
1(B) |Three conscoutive numbers 1 2 3

averages —2 ‘

Five consecutive numbers 1 2345

average — 3

average vary 3 —2 =1

It shall increase by 1.

2. |(B)-{3x2=86 : 7x3=21 4x4=16
3. (c) ; y g
4. |(c) 8x70 8x70 _
FE6 . 1
5. |{(B) IMERCIFVL
CEFILMRU

P11 =0 =]
BDEHKLQT
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)

OO

6. .

OO@® =

2 g =13 '
7. HC)- He was tall, thin and young because it can be 1dent1ﬁed easily
8. |(B)
9. |(A)
o 1 Steps to9—"‘ (a+I) =X 10 45 A
59+4 v 81 +45+55 241. .

A=fj“j:—$ﬂ—li3_3825 poSot t 5+ 5=_4_=60.25

oo 72+76+0+68 -__&:'54 ‘ D=74-t-0+7l+65 =gLQ=52
: 4 4 : 4
11. - |(©) |l (51+45+71) =167 .
12. |(©) b 139 : 241_ i 216 - 210

| = 3v.—51 =2 60.25 C_ 3 =72 D= 3 =70

13. |(a) B,E,D,F. 2, H,J, ?,L

2,5,4,6,1, 8E 10, M, 12

Triple series in ascending 4
14. [(c) ; N

W ‘{l E

South: North — West: west : 7

North — East.
15. |(c)  [Only (i) and (iii) follow

- 60 Y : )
) /'\X Z /\
RN @
(el <z
21 ~
o ML

16.

©)

S+5¥2=12
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17. |(D) |Reward, Punishment & Reinforcement?

Reinforcent

‘g O-— Punishment

18. |[A |(ABC)

19. |[(B) |12, & 4only

20.. [(d) ;I:’L

In each step, the elements move in the sequence. .

Attempt all questions

Read the passage below and answer the questios that follow:
Througliout human histosy there have been many stringent taboos concerning watching other people eat
or eating in the prescnce of others. There have been attempts to explain these taboos in terms of
inappropriate social relationships either between those who are involved and those who are not
simultaneouslv involved in the satisfaction >f a bodily need, or between those who are already satiated
and those whc appear to be shamelessly gorg 1g. Undoubtedly, such elements exist in the taboo, but there
is an additional element with a much more fundamental importance. In pre-historic times when food was
so precious and the on-lookers so hungry, not to offer half of the little food one had was unthinkable,
since every glance was a plea for life. Further during those times. people existed in nuclear or extends
family groups, and the sharing of the food was literally supporting one’s family or, by- extension,
preserving one's self. : ' '
1. In support of the argument in the passage about the validity of taboos against eating in the
presence of the others who are not eating, would imply that the society
(A) had always had a plentiful supply of food '
(B) emphasized the need to share worldly goods
(C) emphasized the value of privacy
(D) discouraged social interaction

2, The writer's hypothesis concerning the origin of taboos against watching other people eat.
* emphasizes the ‘

(A) general palatability of food . (B) religious significance of food
(©) limited availability of food (D) various sources of food
3. According to the passage, the author believes that past attempts to explain some taboos
concerning eating are ' .
(A) unclear (B) inelegant (C) implausible (D) unimaginative
4. In development the main idea of the péssage, the writer does one of the following

(A) gives a systematic picture about family life.

(B) recognizes a system designed to guided personal behavior.

(C) simplifies a complex biological phenomenon by explaining it in terms of social needs.
(D) redefines the earlier attempts to explain the origins of taboos in society.
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82 Which one of the following phrases best state the central idea of the passage
(A) sccial relationships (B) survival of the self
(C) survival of the fittest ‘ (D) survival of the group
Vocabulary Questions : : ‘

6. Choose the right meaning of the given idiomatic phrase; '""He burnt his finger by interfering
in his neighbour's affair"'

(A) got himself into trouble (B) burnt himself
(C) got himself insulted (D) got rebuked
7. Choose the right word or phrase that-is nearest in meaning to the given key word
"DOCILE" ; 5 : :
(A) vague : “(B) submissive . (C) stupid ' (D) stubborn
8. Choose the closest in meaning to the underlined word in the given sentence: "'Last night's
event was remarkable"” ' ; » '
(A) happening B) striking (C) escapade ‘ (D) rampage
9. Pick out the word/phrase oppdsite or nearly opposite to the meaning of the given word
"ANTIPATHY" : : , :
(A) indifference . (B) willingnsss (C) fondness * (D) -liking

10.  Choose the right one-word substitution for the underlined: "Life history of a person written
by another". - : .
(A) autobiography (B) bibliography (C) biography (D) memoir

Syntactical ability Questions - :

Choose the correct alternative:

11. - He enquired ¢
(A) that where I studied. ‘ (B} where I studied

: (C) where I will study i : (D} that where I wil! study

12.. T went to India : ; : :
(A) in April 25,2012 (B) onApril 25,2012 (C) .April 25,2012 (DY at Aprmil 25,2012

13.  The professor and author of this book ' ) '

(A). has been Dr. Koirala ' (B) were Dr. koirala

(C) isDr. Koirala ' (D) are Dr. Koirala .
14. Isaw o : : ‘

(A) the cowisletloose. (B) the cow is being let loose.

(C) the cow was let loose (D) the cow was already let loose.
5.  He aitacked -

(A) onme (B) against me {Y me (D) upon me

1.B) |2.C) 12(A) . 4D 5@ |6 [7.B [8.B) [9.(D) [10.(C)

11.(B) i2.(B) 213.((2) [14.(C) (15.(C)
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